A UNIT OF GENERAL SIGNAL%

EDWARDS

Installation Instructions for the
Catalog Number 156 Monitor Bell

DESCRIPTION

The Edwards Catalog 156 Monitor Bellsareinsulated, grounded,
vibrating bells featuring a concealed plunger and a corrosion re-
sistant gray finish. The grounding strap may be removed if not
required. For outdoor applicationsthe weatherproof gasket (pro-

vided) should be installed.
SPECIFICATIONS
USMODELS
Cat. No.* Amps. Volts dB Rating
156G-3AM .8A |[6-8VDC 8-10VAC 72dBA
156G-3AX 2A 12-18vDC 72dBA
156G-3E1 3A 12vDC 72dBA
156G-3G1 .15A 24VDC 72dBA
156G-3G5 3A 24VAC 72dBA
156G-3J1 A1A 32vDC 72dBA
156G-4AM .8A |[6-8VDC 8-10VAC 76dBA
156G-4E1 3A 12vDC 760dBA
156G-4G1 .15A 24VDC 76dBA
156G-4G5 3A 24VAC 76dBA
156G-6AM .8A |[6-8VDC 8-10VAC 80dBA
156G-6AW .15A 20-24vVDC 80dBA
156G-6E1 3A 12vDC 80dBA
156G-6G1 .15A 24VDC 80dBA
156G-6G5 3A 24VAC 80dBA
CANADIAN MODELS
Cat. No.** | Amps. \olts dB Rating
156-AM .8A | 6-8VDC 8-10VAC 72dBA
156-G1 .15A 24VDC 72dBA
156-G5 3A 24VAC 720dBA

thel56G-6GL1 has asix inch gong.

** Canadian models provided with three inch gongs.

* Bell gong size is denoted by suffix number. For example,

INSTALLATION

CAUTION

Do not apply power to the bell until installation has
been compl eted.

If grounding is not required, remove the grounding strap
from the back of the bell as follows (See Figure 1):

a. Removethe#6-32 x 1/4" pan head screw securing the
ground strap.

b. Remove the adjacent terminal screw and remove the
grounding strap.

c. Replacetheterminal screw removed in step 1b.

d. Replace the pan head screw removed in Step 1a with
(1) #6-32 x 3/8" nylon hex head screw (supplied).

For use in outdoor applications, install the weatherproof
gasket on the back of the bell.

Connect the bell to an appropriate AC or DC power source
using the terminal screws on the back of the bell.

Mount the bell to aflat surface using hardware appropriate
for the application.

Apply power and test the bell to ensure that it operates
properly.

MAINTENANCE

CAUTION

Always disconnect all power before servicing or
cleaning bell.

Examine the bell periodically for accumulation of dirt and
clean as necessary.

Ungrounded

I@Q @@I

To Remove Ground (See Step 1):
Remove #6-32 x 1/4" Pan Head Screw {hmu\]

Remove Grounding Strap

Install #6-32 x 3/8" Nylon Hex Head Screw ammm

BELL TERMINALS

Grounded

& 3

Figure 1.

A UNIT OF GENERAL SIGNAL%

P-047550-1731 ISSUE 2
© 1996

CHESHIRE, CT 203-699-3000 FAX. 203-699-3075
EDWARDS [





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /SyntheticBoldness 1.00
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /ENU (Use these settings to create PDF documents with higher image resolution for improved printing quality. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




